Paper : Geography-I1

Ques # :1

Match List-I (Basis of crop combination) with
List-1l (Propounders) and select the correct
answer using the codes given below :

List-| List-lI

A. Relative importance (i) J.T.Coppock
of crops

B. Croparea andnumber (i) N.P. Ayyar
of livestock

C. Maximumdistance (i) B.L.C. Johnson

D. Minimum deviation (iv) J.C. Weaver

1) A-(iii), B-(i), C-(ii), D-(iv)

2)  A-(i), B=(ii), C-(iv), D-(iii)

3)  A-(iv), B-(i), C-(ii), D-(iii)

4)  A-(ii), B-(iii), C~(iv), D-(i)

-l (T FEAST T 3MIR) S T (FFdEs) &
gaferd difsT gor o v 717 % & T IA 1 TG0 Hifd -

gl =

A. 9! T Gdfald Aged () =& Faw

B. wael a7 g 903l #r F@war (i) T.dl. 3=

C. sifarda#n gr (iii) =t.wer.ESleae
D. =era# fa=rera (iv) =r.erdeR

1) A(iii), B-(i), C-(ii), D-(iv)
2)  A-(i), B<(ii), C-(iv), D-(iii)
3)  A<(iv), B-(i), C(ii), D~(iii)
4)  A<(ii), B-(iii), C-(iv), D-(i)

Ques # :2

The number of agricultural regions into which the world was divided by Whittlesey is -

) 10
2) 11
3) 13
4y 15

fPgeardt  forea 1 forasr ¥ farsmant & fasnfore fram, a8 -
1) 10

2) 11
3) 13
4) 15
Ques # :3

The word 'city region' was coined by -
1) Taylor

2) Garnier

3) Geddes

Rajasthan Public Service Commission - 2016

Ques: 150
Time: 3 Hours



4) Northam

"SI Y& (city region) g T TTAT o=t 1, I8 ¢ -
Do

2) mfeter

3) Prd

4) FEH

Ques # :4

If a primate city has a population of 20 lakhs, the population of fourth rank city in the region, according to the
rank size rule, will be (in lakhs) -

1) 80
2) 44
3) 24
4) 05

AT TUTeT FIR T FTAHEAT 20 A ¢ A 37 87 &F TGS FfE IR A STaraedn Fife e Fww &

TR gl (1 #) -
1) 80

2) 44

3) 24

4) 05

Ques # :5

Select the correct statement about ' urban fringe ' that it is -
1) a zone around the city outside its administrative limit

2) a zone around the city but within its administrative limit

3) an interurbation

4) an inurbation

TR 3 F R A afi Fu aw § R 9w -

D) 7R & IRT 317 35 gerafas T d R AT glar g

2) s & RT3 ey SHRT SRR T 5 e T 8 €l &
3) & TR AT §

D e TR AT

Ques # :6

Genetic approach in the study of settlement geography was propogated by -
1) Meitzen

2) Yonekura

3) Doxiadis

4) Shaefer

T [ & eIt H IHTAAF IIWTH & 49F & -
D srgeats

2) I

AT

4) ot

Ques # 7



The postulate on which Christaller's Central Place Theory is not based, is
1) homogeneous plain throughout the region

2) homogeneous soil fertility throughout the region

3) homogeneous climatic conditions throughout the region

4) Uniform distribution of rural population throughout the region

frEeTart T Ferr T Rgia forg srffremon w amaRa a8 ¥, ag & -
D & & &7 gaae A

2) &7 & 949 GAFY 39STF el

3) 817  HdT FHEY STorargas gk ufaat

) &1 7 FIF GATT IHOT STAEEAT & faawor

Ques # :8

According to Christaller, the 'k' value based on the marketing principle is -
1) 3

2) 4
3 5
4y 7

freeiort & IuR favorer RAGTd & YR 9T k' T AT E1AT ¢ -

1) 3
2) 4
3) 5
4) 7
Ques # :9

According to Weber, the graphic function of transport cost is -
1) Curvilinear

2) linear

3) circular

4) wavylinear

AR & HTAR IRAE AT T INE Gt giar g -
D) gy
2) g
3) e

4) ey

Ques # :10

'Break of bulk' refers to -

1) breakage of product in transit

2) transfer from one mode of transportation to another
3) breakage of product in storage

4) breakage of product during sale

'Break of bulk' & dTcqd ¥ -

D 7mt & searg frge - g

2) aftageT & Ueh AT & GEY AU & Heer-agen
3) Gargor & 3cUrg Hrec-pe

4) f3ehT & FAT 3G P T - e




Ques # :11

According to Weber, the least cost location for manufacturing using ubiquitous raw materials occur near -
1) market

2) source of raw material

3) midway between market and source of raw material

4) transhipment location

AT & ITHR FASATI! FT AT HT ITAWT FIA ATel 3GANT HT w=TqH 1T - Ty forwas fawe
gl e, a8 8 -

D) qro

2) et ATl T AT

3) STSIR 9 & ATl & G & ALY

4) argetteaTor afeafa

Ques # :12

In his theory of industrial location David M. Smith has considered -
1) market demand only

2) production cost only

3) both market demand and transportation cost

4) both market demand and production cost

3T o, FowTer 3 31t Sihee v STy R 3 Fover et Y wRewarr a8, 4 ¥ -
D) Sremdy #fer

2) 3cqTeet T

3) ST AT 9 IRGgeT e St

4) TSR #TeT T 3cTTEsT ETd &ledt

Ques # :13

According to David Smith, the zone for industrial location lies on the points of intersection of -
1) transport cost curve and market demand curve

2) space cost curve and space revenue curve

3) raw material cost curve and market demand curve

4) raw material cost curve and transport cost curve

3fs oy & areran sitea i srafufa & oo maffear #1 &= e 3t & wfaesdes faegait w
grarg, a8 -

D) aftaget omere ash T SToilY Hidr as

2) &y oreTd g%k 9 &Y Toled a5

3) SeRY HTel &l ST deh T ST HT ash

4) Sed HTel 1 oI9Td Gsh T TRags eI dgh

Ques # :14

According to Hoover, which are the three components of production cost ? A. Cost of raw material collection
B. Cost of production process C. Cost of product supply to market D. Cost of breakage

1) A, C,D
2)B,C,D
3) A, B, C
4) A, B, D



W#mmm#aﬁwaﬁmm—#%m.mmﬂ:waﬁ’rm&m

YfSHAT AT ARTT C. 3c9TE F STAR deh ATYfel Y FET D. TE-HT AT ARTT
1)A,C,D
2)B,C,D
3)A,B,C
4) A, B,D

Ques # :15

Fundamental circuit/s in the given diagramis/are

F
A
E
B
C D
1) ACDA and ABCA both
2) ABCDA
3) FEABCD
4)  CAEF

fgw av &= F Feeg oY (fundamental circuit/s) 878 -

F
A
E
B
C D
1)  ACDA and ABCA both
2) ABCDA
3) FEABCD
4) CAEF
Ques # :16

The ratio of the number of fundamental circuits to the maximum possible number of circuits existing in a
transport network, gives the connectivity index -

1) alpha

2) beta

3) gamma

4) cyclomatic

farelt aRager aF & Hereqe TRIYY &y WE&AT e 39 A7 # AHfwas gesra aRIYT Sy TEAT & [T



# S AT g AT, TEE -
1) 3rewr

2) et

3) 1T

4) afger

Ques # :17

In Markov Chain Model, it is assumed that future states depend on the -
1) mean score of preceding events

2) first state in a sequence

3) sequence of events that preceded it

4) present state only

AT BT FAAT H T8 AT A1 § 7 s R feufaar st #cd & -
D) el asiy geansit & Arey 376 9w

2) sFrershd $r gua aRfEAf W

3) = o geaTr FA W

) Shaer adHATT IREUA |

Ques # :18

In case of perfect negative correlation, the related regression line runs -
1) from lower left to upper right

2) from upper left to lower right

3) parallel to X-axis

4) parallel to Y-axis

qot HoTcH® Weawaey h Fufa & grafrua ydrgersre Yar aod ¢ -
D) srt &y @ g 3ux

2) IR 3R F egrt A=

3) X - 3187 & GHAETAT

4) Y - 3787 & GHATAT

Ques # :19

In a Lorenz curve, the 'line of equal distribution' joins the percentage points of X and Y axes respectively -
1)0and 0

2) 100 and 0

3) 0 and 100

4) 100 and 100

AN g% & @A Tawor @ X g Y el & waAer: O ufdera Rt sransd g, a8 -
Doaaro

2) 100 G2=T 0

3) 0 T 100

4) 100 T 100

Ques # :20

When a distribution is positively or negatively skewed, the best measure of central tendency is -



1) median

2) mode

3) mean

4) mean and mode

UATCH® AT HOTcAS 395 aTer Frawor # &gy g iy 1 wafcas o ghar -
D) aAregenr

2) gEers

3) e

4)mwaa§a$

Ques # :21

The regression equation isreducedto Y = aifthe /' is -

1) 1.0
2) -1.0
3) 0.0

4) 10.0

TAITITHT THIEOT Y = a W ogdhd g ! &, I 7 & -

1) 1.0
2) -1.0
3) 0.0
4) 10.0
Ques # :22

The mismatch pair of types of federal system and countries is -
1) Mutual interest : Mexico

2) Compromise : Nigeria

3) Centralized : China

4) Imposed : Pakistan

HEIT Y€ & YHR T §Uf FT IAT A -
I)W%ﬁzﬁ%ﬁ?ﬁ

2) AT : g REr

3)W:?ﬁﬂ

1) IR : arferedreT

Ques # :23

Rimland theory of Spykman appears in the book -
1) Studies in Political Geography

2) Democratic Ideals and Reality

3) Geographical Pivot of History

4) The Geography of the Peace

TaEFA ¥ Rerels Rigia &1 avia D o=0 & Paard, agd -

1) Studies in Political Geography
2) Democratic Ideals and Reality
3) Geographical Pivot of History
4) The Geography of the Peace



Ques # :24

Political geographer other than Mackinder, related to Heartland concept are - A. Meinig B. Hooson C.
Seversky D. Mahan

1) A, B only
2) A, C only
3) C, D only
4)A,B,C,D

m*mmmm#@mmmwm%-A.mB.wc.
T D. AT

D &aar A, B

2) &I A, C

3) &aerC, D
4)A,B,C,D

Ques # :25

The types of boundary between North and South Korea is - A. Geometric B. Superimposed C. Mountainous D.
Riverine

1) A,D
2) A, B
3) C,D
4) A, B,D

3} T STA0T FINAT F AT AT HFTIFR ¢ - A. SATANT B. 3IRAT C. 76T D. AT
1)A,D

2) A, B

3)C, D

4)A,B,D

Ques # :26

Roman group of languages includes -

1) Mongolian, German, French, Italian

2) Chinese, Mongolian, Thai, Vietnamese
3) Urdu, Arabic, Romanian, Italian

4) Spanish, Portugese, French, Italian

Q7T 3T et o AR

D) Fanforge, stoe, tha, se¢faa
2) e, ANTorasT, urs, faaaere
3) 3&, 3Ra, VAT, geforae
%) Fafarer, geemel, e, sefoae

Ques # :27

The world languages by number of speakers in decreasing order are (2014) -
1) English, Mandarian, Russian

2) Arabic, English, French

3) Hindi, English, Mandarian

4) Mandarian, English, Hindi

STelel aTel W191T T FEAT & Ted §U FHHA # 37 HI 1910 § (2014) -
D) gfeerer, #3Raer, v



2) 3, SfFerer, S
3) e, sfoarer, #eRaeT
1) 7R, S, Redy

Ques # :28

The part of U.S.A. in which there is maximum cultural diversity is -
1) north - western

2) north - eastern

3) south - eastern

4) mid western

¥, TH. U. T HAFIH AP o RAfderar arem smr g -
D 3ea - afesd

2) sea - gt

3) gfayor - odf

4) Fear ofReel

Ques # :29

Linguistic family comprises languages with similar -
1) origin, sounds and culture

2) origin, grammatical forms and sounds

3) history, culture and grammatical forms

4) history, culture and sounds

TS IaR & aiFafaa gar & st Hi/awr a7 = -
D) 3ga, wafer 7 depfa

2) 3gq, AT &Y g eafa

3) sfagra, T T el &

4) gfergra, deepfa @ eafar

Ques # :30

If in von Thunen's model, distance from farm to market is assumed to be independent variable which
determine the value of economic rent, the operational regression equation will take the form of -

1)Y =a+bX

2)Y=a-bX
3) Y=-a+bX
4)Y =a

IfE alet e & faATT 7 VT @ IR 1 gl A Fade @ AT foar s, s anfdw e w
Ui Fc &, aY rarcas ydwsraa aisor &1 &7 g -

1) Y=a+bX
2) Y =a-bX
3) Y=-a+bX
4)Y=a
Ques # :31

The geographer who applied von Thunen's model of agricultural location to Europe was -
1) L. Symons
2) O. Jonasson



3) R.O. Buchanan
4) W. Bunge

aiet A & HTY Iraeufay Alse F AT W 1] FIA qTelT IENAdear AT -
D ver. arsm=g

2) 3. S

3) 3. 3. Tt

REC

Ques # :32

Match List-I (methods of measurning agricultural productivity) with
List-Il (Propounders)and select the correct
answer using the codes given below -

List-| List-lI

A. Ranking coefficient method (iy B.N. Sinha
B. Weighted Ranking Coefficient (i) 5.G. Sapre &
method V.D. Deshpande

C. Standard deviation method (i) L.D. Stamp
D. Carrying Capacity method (iv) M.G. Kendall
1) A-(iv), B-(i), C(ii), D-(iii)

2)  A-(i), B-(ii), C-(iii), D-(iv)

3)  A-(i), B-(iii), C-(iv), D-(ii)

4)  A-(iv), B-(ii), C-(i), D-(iii)

-1 (T Scureshdr AT 61 fafemn) &t G-l (Saas) &
Wﬁmyﬁmm@ﬁaﬁmwwﬁﬁﬁ-

- -l
A R TOTR RAfer (i) . T RewT
B. sTRa FI aons [T (i) vw. N &9 g . 2. s
C. wraifores fawewt f@fr (i) wer. 21 weww
D. 9« &iAar fafr (iv) wa. . st
1) A<(iv), B-(i), C-(ii), D-(iii)
2)  A<(i), B(ii), C-(iii), D-(iv)

3)  A-(i), B-(iii), C(iv), D-(ii)
4)  A<(iv), B~(ii), C-(i), D-(iii)

Ques # :33

Inverse distance law of migration was expounded by -
1) Stouffer

2) Lawton

3) Jackson

4) Zipf

YA & gt g s Y wfaarfee fmar -
D e &
2) dffest oY
3) SFget
4) Srom



Ques # :34

'Return migration' is -

1) the status when outmigration equals inmigration

2) deportation of illegal migrants

3) migrants sending their savings to their native countries
4) intending migrants returning to their native countries

g AeTH YT glaT ® -

D) Srerster & sRTeR 31Taretet Y feufa

2) 3rdenfaes weretet &1 et

3) yanfart ganrT st qare Fager St
) fAva yarraat & Taeer etesr

Ques # :35

Recent additions of industrial countries as destination for Indian migrants are -
1) Australia, Germany, Japan

2) China, Japan, North Korea

3) U.S.A, South Korea, Japan

4) Canada, U.S.A., Chile

AR T & T Adiara# iteaifoes sedeg der § -
D) siteefora, srefel, Smare

2) =T, STUTeT, 3eck R

3) g, wa. ©, gfaor HIRET, SrdTe

%) FaArer, 7, v, ©, el

Ques # :36

Flow analysis used in delineating functional regions is based on the direction and intensity of flows between the

1) dominant centres of different regions

2) centres of the same level

3) dominant centres and all other towns of lower hierarchy
4) dominant centres and surrounding satellites

FrATcHS Feoll H! WAMRT FIa # ygFd yare Aeawor S #ex yare A faen 7 gerar
ameRa ard, ag ¥ -

D) fafeiest yeeit & werme 7o

2) HHATT T & IR

3) JEITeT SR T 36 ol TeTegsha & 3o @3l o

4) JTeT IR T 3HF AT & 3Nl IR

Ques # :37

Growth Pole Theory was originally developed by -
1) Glasson

2) Perroux

3) Thirlwal

4) Hirschman



farar o Rgia & #lfas weqasar & -
D) somaer
2) R
3) fRrcrarer
4) R

Ques # :38

The statistical method generally not used in delineating a region is -
1) principal component analysis

2) flow analysis

3) regression analysis

4) gravity analysis

R e WATHRT H IAA: 5w Fifegdhr ey &1 39ater 481 fFar aran, a8 § -
1) gerret gees faeeryor

2) yarg fagevor

3) gelrqarseT fagarvor

4) ar6ea faverwoT

Ques # :39

Select the correct statement - A. Auerbach first observed regularity between city size and their rank, and the
concept was much later formalized by Zipf B. Both Auerbach and Zipf worked together on Rank Size Rule C.
Auerbach and Zipf both are not related to the Rank Size Rule D. Zipf is not related to the Rank Size Rule

) A
2) B
3) C
4) D

T FUF AL - A. FITAH IHEF A TR HTHR T 37 ALT HIFE HT F&707 fomar aar 3853 F1hr
AT 91¢ fA°F o 39 TR $1 3 T AT B. FIfe 3R A W 3R 7 fow g
AT 1Y fHAT C. 3w T Few a1t ) FIfe 3R 9w § grafaug 78 § D. e Fife 3R

s @ grafrua adi @
1) A

2) B

3) C

4) D

Ques # :40

Forwhich ofthe scatter diagram, the standard
error of estimate will be largest ?

A B C | D
1) B
2) A
3) C
4) D



o udhivler 3@ & v sfhele 6 gAT Ffe

3ifeha# g9, 98 & -
A B . c D
1) B
2) A
3) C
4) D
Ques # 41

The measure of centrality about which the sum of the deviations equals zero, is -
1) mean and mode both

2) median

3) mode

4) mean

o $eiadr & A9 A Rrareal &1 T T T, aw ¥ -
D) amex g sgores gt

2) FrezraT

3) Sgers

4) s

Ques # :42

The transportation network having maximum connectivity is -
1) path

2) tree - like

3) circuits

4) cellular

D) weray
2) g
3) oy
4) reir

Ques # :43

Non - parametric test is -
1) Chi-square

2)t

3)F

4)Z

ryTerfore qdieTor § -
1) gr$ et



2)t
3)F
47

Ques # :44

According to the village locations given in the diagram,
the nearest neighbour analysis index will approximate -

1) 0.00
2) 2.15
3) 1.00
4) 0.50

few = R & andt &t Brerfrr & anems o7 33

frread! Bresau Zaeis 2en oot -
1) 0.00
2) 2.15
3) 1.00
4) 0.50
Ques # :45

If the data are multiplied by a constant -

1) mean and standard deviation will increase to the multiplication of the constant
2) mean will increase and standard deviation will remain unchanged

3) standard deviation will increase and mean will remain unchanged

4) both will remain unchanged

HehI Y fHH PR & 7om Fite & -

1) ATET g GATT [qereret [E2RTeh o I[0Teh & s ¢ STuar
2) AT §6 ST d AT faeretsT 3qRafda @

3) gAY [aarelet 96 SIuen g Ared 3aRafdd w@am

4) et gRafda @

Ques # :46

If there is 'no correlation' between two variables, the related scattering of points will be in a -
1) haphazard manner

2) straight line running from left to upper right

3) straight line running from upper left to lower right

4) straight line parallel to either X or Y axis



I &Y oI & FeF FeaFEay H1 'qot e § A weEaita Regait 1 wehofe gem -
D) sregafea

2) 9t i A g FUR Wred [ )

3) art 9T A gt A Aef Y@ W

4) X 3raT Y 3787 & HAAA] Eref 3@ 97

Ques # :47

The rank correlation for the following data will be - X -2,4,6,8,10Y -6, 6,6, 6,6
1) 1.00
2) -1.00
3) 0.00
4) 0.50

farifha g5al F fov fFIfe Fgara=a gevm-X-2,4,6,8,10Y -6, 6, 6, 6, 6
1) 1.00
2) -1.00
3) 0.00
4) 0.50

Ques # :48

The relationship among power structures, environment and economic inequalities is termed -
1) Ecoterrorism

2) Garrymandering

3) Political ecology

4) Cultural diffusion

HedT WIE=T, T4Taor 3K 3 raaTeTansit & 7eT graee FEarar s -
D) gifeufada sndearg

2) 3faiesRior

3) rerifae aiRfeafadhr

4) Frepas SR

Ques # :49

Assertion(A) - The North Atlantic ocean route is the most important ocean route of the world Reason(R) - The
North Atlantic Ocean route brings together the developing and the developed nations

1) Both A and R are individually true and R is the correct explanation of A

2) A is true, but R is false

3) A is false, but R is true

4) Both A and R are individually true, but R is not the correct explanation of A

FYA(A) - Sca HTTredh AFHPRIT FTAAT 32T FT HaH HeeedqOT TAATT § FRON(R) - Fea]
Hedlired AFHTRIT STAT A fad va Remaediier wsel w a#g aarg

1) A TR T 39T T A GETE TI R, A T TE TTEAT R

D ATE, g RITATE

3 ATed g, Freq R T8 R

4) A 3R R = 3 3T F FEYE, e R, A Y 7 AT A6 §

Ques # :50



Which one of the following countries most accurately matches with its territorial shape -
1) Russia : Fragmented

2) Chile : Protruded

3) Poland : Compact

4) Philippines : Elongated

fove=t F @ Tl Sor et S AT IFER A wAH gATATE -
) &7 - RfteaR
2) Rrel - faewlesR

Ques # :51

Match List-l with List-Il and select the correct
answer using the codes given below -

List- List-I
Propounder Theory
A. Weber 1. Agriculture location
B. Malthus 2. Theory of industrial location
C. Von-Thunen 3. Central place theory
D. Christaller 4 Population theory

1)  A-4,B-3,C-2,D-1
2)  A-2,B4,C-1,D3
3)  A-1,B-2,C-3,D4
4)  A-3,B-1,C-4,D-=2

-1 1 G & gAfad Sifae qur A e
I FHe § Fel IW IAC -

- Sl
EESIGES eema
A. a= (i) Fr safeafa

B. Ao (i) et saffufa &1 e
C. aidegaa (i) Fearg T Reyd

D. fegiok (iv) SToraEar facEnd

1)  A-4,B-3,C-2,D-1
2)  A-2,B-4,C-1,D-3

3)  A-1,B-2,C-3,D-4
4)  A-3,B-1,C-4,D-2



Ques # :52

The tribal population of Andaman and Nicobar islands belongs to -
1) Australoid race

2) Caucasoid race

3) Mongoloid race

4) Negroid race

3=AT 3R ARER gdivasg) 1 e Seaea arfa ¥ -
D) sireefortes yenfa &

2) sriehdiss Tollfta &

3) Faleltss yaitiar &

) s yefa @

Ques # :53

Who propounded the goal-achievement matrix techniques in regional planning -
1) V.K Puri

2) Morris Hill

3) G.K. Zipf

4) R.P. Mishra

i A & eAg-uiq Aftaa aweia! # fras afaufea frar 2
Dar & qff

2) AR gl

3) Sh.a. forow

4) 3y, R

Ques # :54

Which one of the following market locations is
optimal in the given diagram of industnal landscape ?

Cost Line

Production Line

A W N =



e e & AU 710 3@ # Siesl
R Rufa sigdedd ¢ ?

Hea @l
~ —
7
R 3cdgst T@n
I
|
I
!
1
1T 2
1) 1
2) 2
3) 3
4) 4
Ques # :55

The number of stages in Toaff's transportation development model are -

1) 4
2) 2
3) 6
4) 8

i & IRage fasra Alse 7 3raeansit i 4T g -

1) 4
2) 2
3) 6
4) 8
Ques # :56

The measures of regional desparities are - 1. Summation of Rank 2. Quartile Index 3. Depriviation Index 4.
Principal Component. Which of these are correct ?

1)1 and 2

2)3 and 4
3)1,2and 3
4)1,2,3 and 4

AT FATAAHT F AT A AT E - 1. Fopfe woheret 2. aqds gawis 3. e ga+is 4.
YT U | 348 A HlT-HT T g 2

D13k2

2) 334

31,2313

1,2,33R4

Ques # :57

Least influenced country by conflicts related to multilingualism is ?

1) Nigeria

2) Cyprus

3) Venezuela

4) Belgium

TEHTITETE HEd { T wonfaa aerg -

1y



ATS ST
2) grsvg
) daepea
1) SfeaTH

Ques # :58

Match List-lwith List-Il and select the correct
answer using the codes given below -

List-| List-II
Books Authors
A. Population Geography 1. L.D. Stamp
B. Geography of Population 2. W. Zelinsky
C. The Geography of Life 3.J.L. Clarke
and Death

D. A Prologueto Population 4 G.T. Trewartha
Geography
1) A-3, B4, C-1, D-2
2) A-2, B-3, C-4, D-1
3) A-4,B-3, C-2, D-1
4) A-1,B-2,C-3,D-4

-1 @ @ & gated fifedr
der =y fgT 9 dhe § Hel IW AT -

- =

Py [CrEES
A. Population Geography (i) TeL3Y. Ty
B. Geography of Population (i) Seeg. Sfeieadr
C. The Geography of (i) =.UcT. FoIeh

Life and Death

D. A Prologue to Population (iv) ST feam’
GGeography

1)  A-3,B4,C-1,D-2

2)  A-2,B-3,C-4,D-1

3) A-4, B-3, C-2, D-1

4)  A-1,B-2,C-3,D-4

Ques # :59

Estancias are -

1) Vast cattle farms of Argentina

2) Smaller estates in Brazil

3) Plantation farms in Malaysia

4) Commercial grain farms in Western U.S.A.

"TESITRAT & -

D) 31l & g aerwme

2) Safier o o TFeT

3) HATRAT & eI Bre

4) iR 3R & AT 31T B




Ques # :60

With the increase in time and distance, accessibility -
1) Reduces

2) Increases

3) Remains the same

4) First reduces then increases

THY AT g T I A TRt -
l)m%

2) sgr g

3) gATT A E

4) gger ged § R s &

Ques # :61

Who formulated the Gravity model which demonstrates the relationship between population size, distance and
migration ?

1) Zipf

2) Miller

3) Malthus

4) Zelinsky

YA, G TUT STTHEAT MHR F AT Foaetl TAWT Y cd AIS  GaRT Faa) Geidrd fHar ?
D) frew

2) Frerc

3) Aty

) =g

Ques # :62

Bases of transportation are - 1. complementarity 2. lack of interveing opportunity 3. transferability 4. means
of transport. Identify the correct ones -

1) 1,2 and 3
2) 2,3and 4
3) lor4
4) 1or3

aRaee F TR § 1. QRyTwar 2. Feaaedt 3mqfe #1 3rema 3. Rfawaar 4. aRaege & aeas @@
3o} UgaIfav -

D1,233

2) 2,334

3) 134

4133

Ques # :63

For his model of industrial location, Weber makes use of -
1) Isogons

2) Isophens

3) Isodapanes

4) Isotaks



31t aitezifires arafeerfy sifeer & Fare e & T v -
1) smrsaietist &t
2) 3SEhIe T
3) ey &
4) s H

Ques # :64

Which one of the following pairs is correctly matched ?
1) Zipf - gravity model

2) Reilly - competing migrants model

3) Stouffer - intervening opportunities model

4) Hagerstrand - principle of least effort

P g A dsam e gafea y 2
D) foro - areca et

2) Jgelt - it yard foest

3) TR - 3eaRTeRT 3aa fogel

4) FIRELTS - wgAaH v RAgia

Ques # :65

Who of the following developed the concept of population potential ?
1) Taeuber and Zelinsky

2) Clarke and Demko

3) James and Jones

4) Stewart and Warntz

SeraEd fasa GFeqar w1 Qe fArafea & & Reger a fFar?
D erger 7 Sife=adht

2) Folld 9 &Fan

3) 7 T e

4) T8aé g areies

Ques # :66

Which one of the following statements is correct accordingly to Ravenstein's migration principles ?
1) The great body of migrants proceed a long distance

2) Migration does not occur in series of stages

3) Each main stream of migration does not produce a compensating counter current

4) Females are more migratory than males over short distances

W7 & yarw fgial & 3R T # ¥ Fla-arFaT adr s 2
D) ganfat r a8t wear ol gy aR e &

2) yard, eI & ST e 7 HeeT 4T grer

3) yara, T Y FET R &Tfaqfel HTAURT Iedest e HXeh

) o1 o &5 N ot oY 3BT AR 3170 T Qe &

Ques # :67



Which one of the following Indian states is entering into the last stage of demographic transition ?
1) West Bengal

2) Sikkim

3) Haryana

4) Goa

fAFTfFd IR U=t & @ Fiaar FAfRRT FFaAor i 3T 3ravyr H yerdor FI@ETE 2
D) afers semer

2) rafewa

3) RO

4) av3m

Ques # :68

Which one of the following statements about 'Central Place Theory' is not correct ?
1) It explains size of towns

2) It was not devised by a geographer

3) It explains distribution of towns

4) It explains number of towns

'Fea T T R F IR AR A T Flaar Faaad a1 g 2
1) Iz el & 3MTFR I TIST FIAT &

2) gaeT TfcdTesT el sfeMededT GarT T8 T fohaT I

3) Tg st & TIAROT Y TISE AT

1) g FEat FT AT Y TISE FIATE

Ques # :69

Which one of the following is not the correct assumption in the general theory of location propounded by
Losch ?

1) The area is a flat uniform plain

2) Supply for a product is flexible

3) Demand for a product would decrease with an increase in price

4) Demand for a product would decrease with distance from a production centre

sirer garT wfawfea ama safeufa Rigia # A § @ sla-dft argar @@ adi @ 2
D) &1 vs gute goHeT A= §

2) 3eqTe; Y IS el &

3) AT gfg & ATY 3cuTg Y AT 3 FHAT graf

4)3?Waw?aﬁag?ra€w215cqlq T AT 7 FHAT ey

Ques # :70

Which one of the following pairs is not correctly matched ?
1) Allix - Umland

2) Smailes - Urban field

3) Harris - Urban hinterland

4) Green - Sphere of influence

gt A sl-wad gt adid 2
1) ufererg - Taolus

2) ¥eq - IR AT

3) R - IR o5 g
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Ques # :71

Which of the following pairs is correctly matched ?
1) Urban landscape - Berkeley School

2) Chlorology - British School

3) Landschaft - French School

4) Urban Ecology - Chicago School

P g d s mad gafea d 2
D) Far8ar s1eeT - s e

2) gy Tt - fafeer famem

3) dlzentre - AR faRYRT

4) T aTRFEATIET - R fa=mmems

Ques # :72

Residential zone IV in the concentric zone theory of E.W. Burgers is occupied by -
1) Workingmen's dwellings

2) Joint family dwellings

3) Single family dwellings

4) Commuter's dwellings

§. Soeq, I F ThAT Aa Rgia & Rermeh /@ v & s e &, ag ¥ -
D) yffret & arg

2) ggerd aRaR & ard

3) Tehel YRER & ar g

4) F1f3at & arg

Ques # :73

'Centrality' of a central place is best represented by -

1) Its location

2) Its size

3) Its industrial structure

4) The functions provided for the population of its hinterland

Sy T i v wafec G & R A
1) sy srafeurr

2) 58 HHR A

3) g ST SR

4) 8% eaueer 7 AT Sterear & forw yed #rf &

Ques # :74

Who of the following used the ternary diagram for the first time for functional classification of towns in
Census of India , 1961 ?

1) R.P. Mishra

2) L.V.S. Prakasa Rao
3) A. Mitra

4) M.N. Pal



e F @ rw fagarer o IR Y FT0TT 1961 H FEa) F YFRTcAS qeifaor & faw FHamemd
IR FT FATYH T HaT 2

D s oy, fasm

2) uer d1.ug. SehrET Ud

3) wiaar

4) uH T Tl

Ques # :75

Who of the following was the founder of the concept of 'Regional Planning' ?
1) P. Geddes

2) B. Mackaye

3) M.M. Hufschmidt

4) T.N. Scroth

g fAE A3 i ATUROM F TEI9F AFa A A ST T2
D4 fde
2) &Y. dr

Ques # :76

Who of the following geographers does not belong to 'spatial school of thought' ?
1) T. Hagerstrand

2) B.J.L. Berry

3) W. Christaller

4) L.D. Stamp

foeet speierdeanatt # @ frwe wraey vafas RaRumr Fadi g 2
D & $redvs

2) . wer. Y

3) geoy, foREgieR

1) wer. & T

Ques # :77

Which one of the following is correct sequence of activities in planning process ?
1) Revelation - Preparation - Perception - Execution
2) Revelation - Perception - Execution - Preparation
3) Preparation - Revelation - Perception - Execution
4) Perception - Revelation - Preparation - Execution

e afFar A TRART AT sl arEr a2
D) genéYenor - aR@ister f@#Tor - geaefieor - srifeaas

2) JRERITT - YcT&Ieh0T - FIeadet - AT fATor

3) aRESTT TAATOT - FerdienoT - IRATSTT AT - SriTeaeT

4) JeefeoT -Jeh1auT - GRATSTAT AT - FrifeadsT

Ques # :78



Which of the following pairs is not correctly matched ?
1) Marx - Historical Materialism

2) Losch - Innovation Diffusion

3) Rostow - Stages of Economic Growth

4) Gould - Stages of Transport Growth

fr & d Fla @ gow wd gAfAT 7@ § 2
D) arert efaeiaes siifawarg

2) Jrer - AT faEavu

3) qieeta - e faehre & 3raeand

4) 715 - afagst fasra & sraead

Ques # :79

Which of the following features is not matched to core - periphery model ?
1) Growth and prosperity of core regions are not at the expense of peripheries
2) Core - periphery models stress on economic relationships

3) Sharp territorial contrast exists between core and periphery

4) Linkages and interactions exist between two contrasting parts of the system

foret F @ FlT-A1 T&T0T 'Fg-3ued fader @ gATAa At g 2

1) vz welt ohr ehrer @ T STt Y v TR A ¥

2) s - 39Ted fodelt & 3nfie grawut Wik R arar g

3) 31 T 3UTed 3 i -1l FAwaar ar$ S &

4) T & At TAYHSRY ST 3 HgoIaAdT  3ied: haTd faege e Tec &

Ques # :80

The seventh belt in agricultural land use model of Von Thunen refers to :
1) Grain Production

2) Livestock industry

3) Barren land

4) Firewood production

qTeT ST & FY o392 Alsel & Wiardf 3 Py cwFa FI 8, T6 8 -
D) sreAteares

2) gR[aTere 3T

3) o 8

) TS e IS

Ques # :81

Which of the following pairs is not correctly matched ?
1) Statistical technique - Weaver

2) Empirical technique - Jonasson

3) Quantitative-cum-qualitative technique - Baker

4) Single element technique - Cressey

e et F ¥ Flwr s gAR_RT A B 2
) giferdr qae - diat

2) 3T depetan - Shetras

3) IREATOTTEH-IOTHETS Feheileh - S




1) ushel decd dehetier - HET

Ques # :82

Who among the folloing is the author of the book entitled 'Location of Economic Activities' ?
1) R.M. Haig

2) R.M. Hurd

3) E.S. Dunn

4) E.M. Hoover

'ATReAT IHTH SHATTAS TIFCTAANST Ao HT d@F AFT A T HlAE 2
D s wa gor

?) 3R TH. g8

3§ a5

i g

Ques # :83

Which one of the following industrial location option would be correct in the event of material index,
according to Weber, is exactly equal to one ?

1) Market location

2) Material location

3) Junction point location

4) The Material, the market or any other point in between

qEY & ITAR Yerd Farhish qoid: T & aXraT g1 oY 3t srafeufa &1 @ Rwea Amr & &
ITHT g9 ?

D) aom 3rafeufa

2) geref 3rateufy

3) frert feg srafeafa

%) qeTd, ST AT 31 Qlelt & ALA IS 3 g

Ques # :84

Which one of the following pairs is not correctly matched ?
1) Weber - least cost theory

2) Hoover - transport cost theory

3) Smith - behavioural theory

4) Fetter - market area theory

At F A Rla ar A a@ gRARaadie
D) e - 7gstas amra fagia

?) g - afaeet areTd fagid

3) ReAY - IRUTR Bgid

4) ¥ex - IR &7 fAgia

Ques # :85

Which one of the following statements is correct ?

1) Market equilibrium is marked by the point of intersection of the supply and demand curves
2) There is no testimony of deindustrialization in industrial history

3) Agglomeration economies are not characterised by shared facilities and services



4) Modern industrialists do not evaluate variable costs

AT Fyat A FlaaTTH T 2

D) STaIR degerst Afar @ 3mqfet agt & wiaedes faeg & Rftga grar
2) 3heifaren gforera o 3r3fefarenor 1 IS Tewr Suests 78 &
3) FgeT 3rcAaTUTE ST FRaemsit 3R darait & A agar sedt
4) amefaes seeTafa aRadseiier drerat @1 Hedidhe 76T Fd

Ques # :86

Which one of the following is the correct sequence of development stages of transport mode ?
1) Symbiosis - auxiliary - predominant
2) Symbiosis - predominant - auxiliary
3) Predominant - auxiliary - symbiosis
4) Auxiliary - symbiosis - predominant

TRagsT JoTTell & AT H aeat FTad FA g A T wlaarg 2
D) geaiaet - gerae - 3fasrdr
2) Hgottae - 31fsrdY - gergs
3) fFredY - ger - Hgeias
1) geTge - gEiad - TR

Ques # :87

Which of the following statements is not correct ?

1) Network pattern does not help shape spatial interactions

2) Density of network is a rough measure of accessibility

3) Connectivity is the relationship between the nodes and links in a network
4) Organization of network refers to the hierarchy of nodes and links

P A wlT aTFYT A AL e ?

D) Sirer ufawa saifas 3tea: BFansit & &9 & g e & gegs e g
2) STTeT HeTed JTRIFIT ST Ueh HICT AT &

3) HAYSTeRdT Uk SiTel & S g wi2at & graea ¥

) STer T TS AlS T 33T & TeTeTeh Ht AT AT §

Ques # :88

Which of the following statements is correct about the defining concept of political geography ?
1) Territory and territoriality can be separated

2) Territoriality is space

3) Territory is activity

4) Territory and territoriality are inextricably interrelated

foeer 3 & Fierar Fuw Terfa® sEie fr TR FFeTT F IR A FTE S ?
D) &7 33 arfraar sreer fpu s aea

2) efgar T T

3) ey arfafafr g

1) & T T AT &9 @ IeadiFaleed §

Ques # :89



Which of the following charcteristic is not associated with ' nation - state ' ?
1) It is an independent state

2) The inhabitants share a sense of national cohesion

3) It is not the ultimate geographical realization

4) It occupies a clearly defined territory

e & @ Fiad fFdvar ' Use=T ' A gFafua adi g ?
D) yg v Tadg asT

2) fare TSET AIgad &1 HIa {@d &

3) =g T it srepeifa e &

) g gReYa s T e §

Ques # :90

Which one of the following statements is correct ?

1) 'Frontiers' and 'boundaries' are used as synonymous in geographical literature
2) Boundaries are not essential component of sovereignty

3) Sovereign states are divided by boundaries

4) Sovereign states are divided by frontiers

i slarsuTEd § 2

D) frAreat g danst & g stanfore arfecy 3 gaTar el & ®q A glar g
2) HATE FASAT T IR 3T TET &

3) G T FAT3 ganr e g €

4) FFwe] T WAt ganT Ao gt 8

Ques # 91

Which one of the following statements about ethnicity is not correct ?
1) No single trait denotes ethnicity

2) Ethnicity is an evidence of areal cultural diversity

3) Territorial segregation is a strong and sustaining trait of ethnic identity
4) Koreans living in Korea are identified as ethnic group

AT & Heasl # AT Fy=l 7 A Flaar Fua W A6 ¢ 2

D) &1 3l faRweT sgatrelarar st $fad T8t el

2) syatrerrar ey aiespfae fafatrar ar s g

3) ST JUFRIOT AT Tg et &l U Tl T JTCehN olafor §
4>®W@W§ﬁwﬁg¢wqmﬁuaﬁ%mﬁmﬁm%

Ques # :92

Which one of the following statements about cultural ecology is not correct ?
1) It delas with relations between cultural group and its natural environment

2) It studies adaptive processes by human societies

3) All societies pass through similar stages of social evolution

4) It is subset of human ecology

foret 3 & FieTar Fue wiEHfas TRIPUTA & araey F ad aE 2
D) et rawyr Aiepias 9o 7 58 Trehfas gaavoT 8§ §

2) Ig AT GATSH 3 3eThele 1 RT3 1 e §

3)




G AT AT FIATTSTh TR IaEATI & ToRd &
%) 7 Freta Ik FEufadh 1 saaeg &

Ques # :193

Which of the following is the correct descending hierarchy of cultural areas ?
1) Cultural world - cultural region - cultural realm
2) Cultural world - cultural realm - cultural region
3) Cultural realm - cultural world - cultural region
4) Cultural region - cultural world - cultural realm

e T &3 T WEl ARG YegFA et A sl g 2
D) wiegfaes Ause - Fiehiae g - Hieapias IR#AvS
2) AiEpTae HUSH - AEPTad TRAVSH - HiEh e 82T
3) AiEpTad TRHAVSH - AP as HUSH - AREFHad T
4) FiEpTas T8 - HiEH e AUS - AiEpias IRATST

Ques # :94

Non - parametric tests are also known as -
1) Index free

2) Distribution free

3) Formula fress

4) Calculation free

ryrafas T s AR A i T I8 -
D) g e

2) fyaRor IR

3) g et

4 aurar IRa

Ques # :95

Which one of the following statements is not correct ?

1) Markovian processes are represented on a transition probability matrix

2) Markov process is the result of both-chance and systematic influences

3) A given state at time 't' is wholly dependent upon the state at some preceding time in Markov chain model
4) Chain of higher orders cannot be modelled in Markov chain model

et 7 @ Pl FyT T AL 2

1) #Arenfelt afshard e dspaoT wisdr smegg 3 Ry g §

2) FTehia TTehaT TEToT  HHA Elell T8TaT ST IRUTH &

3) Arerfa sl feet 7 ve T & i Tl 3 qdadt ger i fFufa o gofa: R wdr g
4) FTTaaT FHeAT T AT AR T et 7 g fia g r 3w

Ques # :96

In that case two regression lines overlap completely each other, the value of correlation will be -
1) 0.00
2) 0.75
3) 1.00
4) 0.50



3w Feufa # 59 & wfaerars {am va-g@t ) O @ o& adll § a9 Geaeaet HT AT g1 -
1) 0.00
2) 0.75
3) 1.00
4) 050

Ques # :97

Which of the following pairs is not correctly matched ?
1) Law of comparative judgement - Thurstone

2) Scalogram analysis - Guttman

3) Composite standard method - Guilford

4) Social distance scaling technique - Likert

P g A Fa-m e gAfda adi d 2
D) Jeretreres o &1 faw - g&ea

2) EheiraH [aReINoT - g HeT

3) fafiia A At - Tsemrs

4) AT g ATIHHA doheiieh - farhc

Ques # :98

Match List-lwith List-Il and select the comrect
answer using the codes given below -

List-| List-If
A. Chena 1. Sudan
B. Nagasu 2. Brazil
C. Roca 3. Indonesia
D. Humah 4. 5rn Lanka

1)  A-1,B-4,C-2,D-3

2)  A-2,B-3.C-1,D-4

3)  A-4,B-2,C-3,D-1

4)  A-4,B-1,C-2,D-3
-1 & gl & gafea Sifsr qur #=r oo
AT e HT FEIdT F Tl I FT 997 FHIHT -

- il
A e (i) gz
B. =g, (i) gt
C. e (iil) SSerfErar
D. g (iv) Aot

1) A-1,B-4,C-2,D-3

2)  A-2,B-3.C-1,D-4

3)  A-4,B-2,C-3,D-1
4)  A-4,B-1,C-2,D-3



Ques # :99

Match List-lwith List-Il and select the correct
answer using the codes given below -

List-I List-II
A. Value 1. Location
B. Location 2. Economic rent
C. Rent 3. Nearness

D. Convenience 4. Convenience

1)  A-3,B4,C-1,D-2
2)  A-1,B-2.C-4,D-3
3)  A-4,B-2,C-3,D-1
4)  A-2,B-4,C-1,D-3

el & G- F gaAfea ffee g # e
AT Fe HT Feadl F Fel IR H 994 AT -

- el
A HeT (i) srafeufa
B. safeufa (i) 3T @ETT (377137
C. @nd (i) FHTar

D. gigem (iv) Glaer
1) A-3,B-4,C-1,D-2
2)  A-1,B-2.C-4,D-3
3) A-4,B-2,C-3,D-1
4)  A-2,B-4,C-1,D-3

Ques # :100

Match List-lwith List-Il and select the comrect
answer using the codes given below -

List-| List-lI
A Haushofer 1. Living Space
B. Mackinder 2. The New World : Problems
in Political Geography
C. Ratzel 3. Heartland Theory
D. Bowman 4. Geopolitics

1) A-4,B-3,C-1,D-2
2)  A-4,B-1,C-3,D-2
3)  A-3,B-4,C-2,D-1
4)  A-3,B-4,C-1,D-2



-l & gl & gafea fifae qur J fee
AT FHe T WAl F Hel I & 997 HIfAT -

T |
A BATHT (i) arT T2
B. #AfF=t (i) & =g ges : weeres, 54

gifeifcarer TSIETHT
C. Yeora (i) sezree Reena
D. FideT (iv) sE-Xratenfal
1) A-4, B-3, C-1, D-2
2)  A-4,B-1,C-3,D-2
3)  A-3,B-4,C-2,D-1
4) A-3, B-4, C-1, D-2

Ques # :101

The first scholar who formulated the laws of migration was -
1) Kosinski, L.A.

2) Lee, E.

3) Ravenstein, E.G.

4) Zelinsky, W.

YaHeT [AIHAT Y TATeT aTeT g [agareT o7 -
D) ifde, Ter.

s

3) Waadre, §.5M.

) Sfead, 3507,

Ques # :102

In Lee's opinion, which of the following factors are responsible for migration ? 1. Factors operating in the
area of origin 2. Factors operating at the destination 3. Factors that act as intervening obstacles 4. Personal
factors that are specific to individual. Select the correct answer using the codes given below -

1)1,2and 3
2)1,2 and 4
3)3 and 4
4)1,2,3 and 4

ol F R & AT 7 9 F19-3 FRE a0 & v Icaeri § 2 1. 3cufed &7 # fFameier
FRE 2. AdeT T R FFATRfier FRF 3. FREF A ed: T F T A fhamelia § 4. safFaerg sra
cafFaal & fore faflrse § # Rw g e 1 vaer 1 ) 3eat giav -

D1,233

2) 1,234

3) 334

D1,2,334

Ques # :103

Consider the following statements - Demographic transition is a general model - 1. Describing the evolution of
levels of fertility and mortality 2. Which has been developed with particular reference to developed countries
3. Which has been accepted as the universal model of population growth 4. Which suggests four highly stylized
phases in the process Which of the above statements are correct ?

1) 1,2 and 3



2)2,3 and 4
3) 1,2 and 4
4) 1,3 and 4

frfafad Fya W TR AT - FTTEITCITHT HAU 98 AT Al § - 1. A SeA-gT 31T
Heg-aX & T & A &7 qofer F3ar ¢ 2. I Rafaa quf & wocst 7 Refa rarmarg 3.
FTHEAT gig F feaeard) Atse & w7 & Tiga fFar 73 ¢ 4. S ovwH 7 9K 3w dfaeg
YIEFYI3T Y R FIAT ¢ STEFT FYAT A T FITq T 2

D 1,233

2) 2,334

3) 1,234

41,334

Ques # :104

Consider the following situations - 1. Very low birth rate and low death rate 2. Birth rate greater than death
rate 3. Very high birth and death rates 4. Low birth and death rates Demographic transition in a country
follows the sequences -

1) 3,2,4,1
2) 1,3,2,4
3)1,4,2,3
4) 4,3,2,1

farafaf@a aRPufaat o Rer ffew - 1. sfafas ser-a3 aur e gog-a3 2. - A
38T A T8F FTeH-eT 3. AHTA3TT o h TUT Fg &l 4. fAe=T o qr 741 7oy &X el er 1 Sreiferehrr

Ques # :105

The birth rate (1) and death rate (2) are marked on the
graph given below illustrating demographic transition,
What does the third continuous line (3) on the graph show ?
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1) Fertility rate
2) Growth rate
3) Life expectancy

4) Total population
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Ques # :106

According to which scholar morphology of Indian villages is based on the concepts of functional and social
space ?

1) A.B. Mukerjee

2) R.L. Singh

3) K.N. Singh

4) R.B. Mandal
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Ques # :107

According to G.K. Zipf calculation of expected population of a primate city is possible through which one of
the following formulae -
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Ques # :108

The area marked X in the given diagram representing
Concentric Zone Theory of urban land use is called —

1)  Central Business District
2)  Low Class Residential

3)  Medium Class Residential
4)  High Class Residential
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Ques # :109

According to Central Place theory, which one of the following statements most aptly describes the distribution
area of a commodity around a central place ?

1) The area which supplies the threshold population for the commodity
2) The area in which the central place supplies more of the commodity than does any other central place

3) The area bounded by the line joining the points of maximum distance upto which the commodity is supplied by
the central place

4) The area bounded by the line joining the points of maximum distance from which people come to the central
place to buy the commodity
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Ques # :110

K- 3 is one of the following principles -
1) Transport principle

2) Market principle

3) Administrative principle

4) Settlement principle
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Ques # :111

In the given Multiple Nuclei Model of Harms - Ullman,
the shaded area marked A represents -

1) Heavy manufacturing area
2) Residentail suburb

3) Outlying business district
4)  Industrial suburb
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Ques # :112

Which one of the following is NOT correctly matched ?
1) Rank-size Rule - G.K. Zipf

2) Law of Retail Gravitation - W.J. Reilly

3) Concept of Conurbation - Patrick Geddes



4) Concept of Megalopolis - E.W. Burgess
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Ques # :113

Which one of the following is NOT correctly matched ?
1) Concentric Theory - Sinclair

2) Sector Theory - Homer Hoyt

3) Central Place Theory - Christaller

4) Multiple Nuclei Theory - Harris and Ullman
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Ques # :114

Which one of the following is the minimum deviation method in crop combination analysis ?
1) Raffiullah's method

2) Kostrewicki's method

3) Weaver's method

4) K. Doi's method
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Ques # :115

Three field system means -

1) Vegetable, milk production, horticulture

2) Agriculture, forestry, pasture land

3) Horticulture, cultivated land, livestock rearing

4) Cultivated land, pasture land, fallow land (equal share)
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Ques # :116



In 1972 Kostrowicki developed the code and the formula for agricultural typology as -
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Ques # :117

Who conducted the first landuse survey of Great Britain ?
1) Dudley Stamp

2) Hettner

3) Peter Hagget

4) Alice Colman
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Ques # :118

Who has first divided United States of America into thirteen agricultural regions in 1925 ?
1) Baker

2) Whittlesey

3) Buchanan

4) Kostrowicki
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Ques # :119

The types of agriculture in the world presented by Kostrowicki in 1976 are as under -
1) 05 First Order

2) 20 Second Order

3) 55 Third Order



4) All of these
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Ques # :120

Which one of the following is a declining type of agriculture and continues to become less and less important ?
1) Commercial livestock

2) Tropical plantation

3) Intensive subsistence

4) Shifting cultivation
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Ques # :121

The concept of collective farming came into being -
1) After Bolsevic Revolution

2) After First World War

3) After Cultural Revolution

4) After Second World War
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Ques # :122

Von Thunen's Agricultural Land Use Theory came into being in -
1) 1824
2) 1825
3) 1826
4) 1827

aleT TqAT T FY 39T g Hfeaea 7 3ma -
D 18243
2) 1825 &
3) 1826 3
41827 #

Ques # :123



Seven years crop rotation in Von Thunen's model beongs to -
1) 3rd belt
2) 4th belt
3) 5th belt
4) 6th belt
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Ques # :124

Transportation cost-distance relationship is shown in the following figures. If a person wants to travel from A
to B, which one of the following relationships will be beneficial to him ?
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Ques # :125

Who defined 'political geography is concerned with politically organised areas, their resources and their
extent, and the reasons for the particular forms which they assume' ?

1) Richard Hartshorne
2) Moodie

3) Pounds

4) L. Carlson
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Ques # :126

'Who rules east Europe commands the heartland ; who rules the heartland commands the world - island ; and
who rules the world - island commands the world.' Whose definitional statement is this ?

1) Mackinder

2) N.J. Spykman
3) Meining and Hooson



4) A.T. Mahan
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Ques # :127

Heartland' theory by Mackinder was given in -
1) 1911
2) 1904
3) 1930
4) 1940
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Ques # :128

Who propounded the Rimland Theory ?
1) Spykman

2) Mackinder

3) Seversky

4) Valkenburg
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Ques # :129



In the below — mentioned map culture — realms of the
present— day world have been depicted according to
which ofthe scholars ? Select the correct answerusing
the codes given below the map —

Codes -

1) J.E. Spencer and W.L. Thomas

2) R.J. Russell, F.B. Kniffen and E.L. Pruitt
3) PL. Wagner and M.W. Mikesell

4) S.N. Dicken and F. R. Pitts
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Ques # :130



In the below — mentioned map culture — realms of the Pacific Ocean
have been respectively marked as 1, 2, 3 and 4. Identify their
correct sequence using the codes given below the map —

- ;
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Codes -

1) Micronesian - Polynesian - Melanesian - Australian
2) Melanesian - Polynesian - Australian - Micronesian
3) Australian - Micronesian - Polynesian - Melanesian
4) Polynesian - Micronesian - Melanesian - Australian

fArTiehd AERA & Welled ASEERIT FEhid - IRAvSHAT
F AT 1, 2, 3 3K 4 F carar = | AT & A
fgw a1 e &1 JERT FT SAST Tl FA TgAIAv -




Ques # :131

Nearest Neighbour Analysis technique was initially used by -
1) Botanists

2) Geographers

3) Geologists

4) Zoologists
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Ques # :132

Gravity model in geography is applied to determine -
1) Dispersion

2) Correlation

3) Regression

4) Distance decay
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Ques # :133

Gravity concept in geography is also called as -
1) Elastic theory

2) Newton's 2nd law

3) Interaction theory

4) Boyle's law
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Ques # :134



The given graph of spatial pointrandom sampling is—

1) Simple

2) Nested

3) Stratified
4) Systematic
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Ques # :135

Who of the following had conceived the term 'growth pole' ?
1) B.J.L. Berry

2) F. Parroux

3) R.J. Johnston

4) D.M. Smith
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Ques # :136

Who of the following had developed the technique of 'social area analysis' ?
1) M. Dacey

2) R.E. Murphey

3) E. Shevky

4) G. Frank
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Ques # :137

Which one of the following is not a method of measuring agricultural productivity ?
1) Output in terms of value

2) Output per unit area

3) Ranking coefficient method

4) Input output ratio
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Ques # :138

Which of the following activity is influenced by all occupations ?
1) Fishery industry

2) Livestock industry

3) Transport industry

4) Manufacturing
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Ques # :139

A model is 'either a theory, a law, a hypothesis, or a structured idea' is the definition given by -
1) Ackoff

2) Skilling

3) Petch

4) Chorley
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Ques # :140



Which one of the following is not involved operating costs in transport ?
1) Line - haul costs

2) Overhead costs

3) Locational costs

4) Transfer costs
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Ques # :141

Which of the following is the ratio edges to vertex ?
1) Gamma Index

2) Eta Index

3) Beta Index

4) Alpha Index
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Ques # :142

Who of the following had used the terms 'the politics of production' and 'the politics of consumption' ?
1) H. Brookfield

2) N. Thrift

3) P. Saunders

4) F. Wallerstein
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Ques # :143

Which of the following is not an accepted example of ethnic nation-state in Europe ?
1) Iceland

2) United Kingdom

3) Denmark

4) Poland
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Ques # :144

Who had authored the book entitled 'A Geography of Social Well-Being in the United States of America' ?
1) P. W. Porter

2) F. Lukermann

3) A. Buttimer

4) D. M. Smith

" fSraaITehY 3T Werer ad-AF9T T & FoAses T A6 FANFT a7 7y fFw Rgamer & foran
oqT 2

D . oo, didx

2) . oy

3T R

4) ruw. oAy

Ques # :145

According to Christaller, the distance between two lowest order centres is -
1) 2.35 miles
2) 3.35 miles
3) 4.35 miles
4) 7.45 miles
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Ques # :146

The one which is not the private transport cost, is -
1) track cost

2) interchange cost

3) running cost

4) social cost
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Ques # :147

Lorenz Curve is a graphical expression of -
1) central tendency

2) standard deviation

3) variance

4) dispersion
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Ques # :148

Federal system is more suitable in the condition of -
1) small area

2) large area

3) cultural homogeneity

4) pronounced regional expressions
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Ques # :149

Chitemene is -

1) shifting cultivation in Zambia

2) a new mineral discovered in Chile
3) a port in New Zealand

4) a type of harpoon
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Ques # :150

Qashgai migrate between -

1) inner Algeria and Mediterranean sea coast
2) inner Libya and Mediterranean sea coast

3) Zagros mountains and the Persian Gulf coast
4) Afghanistan and Pakistan
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